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HBEEPS [#E1]
(1) R¥E6, w2 (2) &1, k&1 Q) R -1, k¥4
(4) FR¥ -3, W3

HHEP6 [HiH2]
(1) F%2a, W3  (2) %3y, WE2  (3) HRE —6a, RE3

HEEPT [#E3]
(1) 22%—x+5 (2) —2a%—12b2

1) 4x*4+3x—1—-24>—4x+6=(4—2)x*4+(3—4)x+(—14+6)
=22 —x+45
(2) 3a%—2ab—4b%—5a*+2ab—8b%2=(3—5)a’+(—2+2)ab+(—4—8)b*
=—2a*—12b*

HEEP.T [#iE4]
e (1) 3w (2) 4%k

HFEPS [#E5]
mE (1) 3w, EFEby +¢c  (2) 2w, TEHHEax*+c
(3) 3w, THIE ¢

HAEEP.S [#E6]
B2 (1) (a+2x+4a?—3a) 2 22+0By—1)x+(2y2—3y—2)

HEEP9 [HET7]
s (1) A+B=6x>—2x—7, A—B=—2x>4+8x+5
20 A+B=6x*—6x2—2x+12, A—B=2x3—2x—2
JiE,
1 A+B=(24*4+3x—1)+(42*—5x—6)
=2+4)x*+(3—-5)x+(—1—6)
=6x2—2x—7
A—B=(244+3x—1)—(4x*—5x—6)



BT AR ORREMEE

=2x%+3x—1—4x%+5x+6
=(2—4)x*+(3+5x+(—1+6)
= —2x%+8x+5

(2) A+B=(4x*—3x>—2x+5)+ (243 —3x24+7)
=(4+2)x°*+(—3—-3)x2—2x+(5+7)
=6x°—6x2—2x+12

A—B=(4x>—3x>—2x+5)—(2x3—3x%47)

=4x%—3x%—2x+5—2x°+3x2—7
=(4—2)x3+(=3+3)x2=2x+(5-7)
=2x%—2x—2

HEIEPY [f#H8]
@) (1) 5x%42x+5 2) —4x*+11x—18 3) x2+13x—13
1) A+2B=(x2+4x—3)+2242—x+4)
=x*+4x—3+4x*—2x+8
=(14+4)x*+(4—2)x+(—3+8)
=5x2+2x+5
2) 2A—3B=2(x2+4x—3)—3(2x%— x+4)
=2424+8x—6—6x2+3x—12
=(2—6)x2+(84+3)x+(—6—12)
=—4x%+11x—18
3 A+B+4+2(A—B)=A+B+2A-2B
=3A—-B
=3(x2+4x—3)— (242 —x+4)
=3x2+12x—9—2x24x—4
=3—=2)x%+(124+1)x+(—9—4)
=x24+13x—13
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